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Round to 3 decimal places. Show all work.

1.  Find the equation of the line tangent to the function f (x) = 2(1nx)2 when
L) 22 (3= s

y—ISZZ(x—e3) 4:(('\5: 4 s
¥
c)
X
X

\o
' -
Mf;.f/(ea) = -\;g

D

The slope of the line tangent to the curve xy’+x*y* =6 at (2, 1) is
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3. Let f (x)=67 on x€(0, o). The minimum value attained by /s
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4. I h@=e"(r+1),then H(O)= 1+ 2273
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5. The figure below shows the graph of the functions f'and g. The graphs of
the lines tangent to the graph of g at x =-3 and x =1 are also shown. If

B(x)z f(x)-g(x), what is B’(l)?
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7. Given the functions f(x) and g(x) that are both continuous and
differentiable, and that have values given on the table below, find h’(2) , given that

hx)=g(x) f(x)

x /() () g(x) g'(x)
2 4 2 8 1
4 10 8 4 3
8 6 -12 2 4
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8. Which if the following is the graph of y = —ln(9x2 — x4)?

9. Which of the following is the equation of this graph?
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a) y=.125(9x2—x4) @ y=(.25x2) 9—x*

B0 y_9x2ﬂx4 7®/ y=ln(9x2—x4)
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1. Find domain and zeros of K (x)=(2x)v16—x".
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2. Find the extreme points of K (x)=(2x)v16—x*. Show the algebraic work to
support the critical values.
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3.  Find domain and zeros of g(x)=e *vx+3.
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4. Find the extreme points of g(x) =e*vJx+3. Show the algebraic work to
support the critical values.
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Find domain, VAs, and zeros of h(x)= ln(x4 —29x% + 100) :
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6.  Find the extreme points of h(x)= ln(x4 —29x? +100) on x&[-1, 7]. Show

the algebraic work to support the critical values.
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7. y= (5x2 - 3)7 (7x4 + 4)10 . Find % in factored form.
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DO TWO OF THE FOLLOWING THREE SKETCHING PROBLEMS

8.  Find the traits and sketch K (x)=(2x)v16—-x>.

Y-intercept: [ © Q‘) Range: A c E: 3. 8]

End Behavior (Left): i2one End Behavior (Right): > ovE
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9. Find the traits and sketch of g(x) =e¢ *Jx+3.

Y-intercept: @ l\{%— \ Range: 5 £ Eg} 'B‘L\L’(Fl

End Behavior (Left): +50 4 End Behavior (Right): 3 ~O




10. Find the traits and sketch of h(x)= ln(x4 —29x2 +100) on x€[-1, 7].

Y-intercept: (D p 4/.605/3 Range: A = éo“, ¢4 W)
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